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=R =EF4A ifT4&  [OUT| IN | TOTAL
1HP B2 EEH 35 37 72
2WE B FEM 36 37 73
3K Bz AREEM 35 38 73
485K [E—BR [EEET 36 39 75
5 Al =& FEM 38 39 77
IWE #FE RHET 37 40 77
hE &= MR 37 40 77
8/RA % i 41 37 78
A B #kFmh 40 38 78
L#H BxX BHE 39 39 78
iE = HARM 35 43 78
12 KEE fifi— et 40 39 79
A B%= ¥FFHE™ 39 40 79
HEE A /NN ] 39 40 79
15 #5858 EX /NN 42 38 80
#BHE KE KHET 41 39 80
%ig B2 BT 39 41 80
B EH kg™ 39 41 80
19 IEME @A R HEH 41 40 81
FE EF HRM 39 42 81
21 128 =il soath 42 40 82
R IEA Ml 42 40 82
AN thth mEEAT 39 43 82
AR EF] Ml 38 44 82
5H B m#EE™ 36 46 82
26 FIL FER FWH 43 40 83
BH Eh finta™h 42 M 83
Be)Il B MR 39 44 83
29 £k sh= FEM 45 39 84
BH FE fatE™ 44 40 84
e Z= fotE™ 43 M 84
= EX LN =N ] 42 42 84
Al =4 et 42 42 84
Tk IEfE 3= 4531 41 43 84
35 BHH B et 46 39 85
&3 X ™ 42 43 85
Z2E B REEM 42 43 85
38 X i —=HT 44 42 86
Bl ffi— REEM 44 42 86
mx B i 42 44 86
Bt &— /NN 41 45 86
42 fgIlh % finta™h 44 43 87
Fik B— M 43 44 87
sy #* HEM 42 45 87
WE A HARM 42 45 87
IR B AREES 42 45 87
xR & I\fEh 41 46 87
BAR =t th 40 47 87
49 XE & RAER 41 47 88
M EA NS 40 48 88
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51 b & kg™ 44 45 89
E7 fl FEM 44 45 89
Rk RE FEM 44 45 89
INFE ER fatE™ 44 45 89
R HX FEM 42 47 89
56 #% &R BT 49 M 90
E# R FEH 45 45 90
fax W= I\ETH 41 49 90
59 /INE 1£35A Wg A 45 47 92
60 BHFT X&k FEH 42 51 93
61 ik ~5H #ram 45 49 94
62 BT X&E E&m 42 53 95
63 PaIER 1= FEH 52 51 103
e k= g™ 50 53 103
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RE Fik EF AR
RE BFt b FEM
RE="H FA FHET
RE AR EZ I\
RiE FHW M5B ]
REF/E A niE™
REMA BE FEM

RE Wk = fintaT
RIE RIL BE EE™
REhE 5= fintaET

RE FE EA MR
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